mh

£2T (DIP ¢ 150mm)

TKERZ Y ZAILEHKE 61 ($150) GXFz EEET
& il s | B | B | & BEE A BAEM&] KK Te| B[ A ® | = RhERE
= W #® | 4 |&B] BE[A|sm|lz|s|(m[m a[a[da[d[z]c|r|m|%|c 55 ml|8| &
& 2 | & | 2 | E s lmlololq 2|2 &g|e|e|e|x|v|v|8|%at s8] v R IR,
= = E | B | B | & & | F || 2|25 |s|lv|v1 |8 &8 s| |5 | | 28 |&5E|0 20m3]0. 35m3
gl E | | e e o 2| 7| 5| W |150475) 75 |0 B | K
mm m m m m (X[ Fx|x|[#[E|E[EB[BA|E B[ B|H[A[B][6E] @ [Z[E@[B] n m m m3 | m3
260 |IP.17
IP. 18 150 38.20| 38.20/ DIP| 5000] 7| 1 1 1 1 38.20| 38.20
IP. 18
IP. 19 150 21.92| 21.92|pIP| 5000] 4] 1 1 11 1 21.92| 21.92
IP. 19
IP. 20 150 12.90| 12.90| DIP| 5000 2| 1 1 1 1 1 12.90| 12.90
IP. 20
IP. 21 150 6.70| 6.70|DIP| 5000 1| 1 1 11 1 1 6.70] 6.70
IP. 21
+7.19 150 7.19] 7.19/ DIP| 5000 7.19] 7.19
+7.19
+8. 09 150 0.90] 0.90| DIP| 5000 0.90| 0.90
+8. 09
IP. 22 150 3.49] 3.49|DIP| 5000 3 1] 2] 1 2 4 1 1 3.49| 3.49
IP. 22
+39.36 | 150 39.36] 39.36| DIP| 5000 39.36 39.36
+39. 36
+40.40 | 150 1.04| 1.04/DIP| 5000 1.04] 1.04
+40. 40 %755Y" x 7559 (20mmiiCFl)
IP.23 150 9.12| 8.52|pIP| 50000 8| 2| 1] 2 1 1 1l o1 2 1 1 1| 1] 8.52] 8.52
IP.23
327-1 150 DIP| 5000
(ORRGRNEO) @ ® ®| @ ® Q)
MpgEst | 220 9 2| 8 1] 1] 3] 3 3 3 1] 10 1 1 1 1] 1] 1
YT Q+Q)= 10 AAZHILBFEE Q= 10
X#FI (BT OD+@= 310 75 U ORFIT @HO+@= 30
GX#EF I (ERE) @*2+6-0-D+W= 8 O
140.82[140. 22| $#H&E [GXEF I G-Link) :®©= 00 GX#FE T (P-Link) D= = 140. 22| 140. 22
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& A 154 i i I i i PeRR BRI kil % RRGERL) B R ANNEBR 5% Bk
B I, 1] 1] iR 1] 1] HEHI BH 0. 20m3 BH 0. 35m3
& & 7# 5 i3 Hil -3 i TE | FHE (N ysm [N ohky| JEEI (REL) HE | B |EEH|RED | BRI | FRED|BRKI|REI|KKI|0.20m3|0. 35m3
=5 = = & E & = (HE#1) | 0. 20m3 [ 0. 35m3 | (A" haY) (EBR) gL B gL
30cm 30cm 30cm
mm m m m m m3 m3 m3 m3 m3 m2 m3 m3 m3 m3 m3 m3 m3 m3 m3 m3 m3

IP.17

IP. 18 150 38.20

IP. 18

IP. 19 150 21.92

IP.19

IP. 20 150 12.90

IP. 20

IP. 21 150 6.70

IP. 21

+7.19 150 7.19

i ool ] IR (BHIET) HEBIHAEERHTH

+8.09

IP. 22 150 3.49

IP. 22

+39. 36 150 39. 36

+39. 36

+40. 40 150 1.04

+40. 40

IP.23 150 9.12

IP.23

327-1 150

a

140. 82




T8I
B EHXIR BAMBS L HE H oM B E

154 A & T i E 2 | RERE| ZBRE | &BRE | ZRE | ZRE | BAR | BAR | BAR | BAR | BAE

= fl =4 Hil R i 2.00m | 2.50m | 2.50m | 3.00m | 3.50m [ 2.00m [ 2.50m [ 3.00m | 3.50m | 4.00m | Xk KR

& & (23 = & Hil Y FTRI | XRI | IR | BRI | IR TR TIRN|TRN|[TRIRV TRV | #5Y) B | XREE i1

= =5 E3 x 1 B 1 & 2 B 2 B 2 B 30 m 30 m 30 m 30 m 30 m miE

mm m m m m m m m m m m m m m m m2 ® t
IP. 17
IP. 18 150 38.20
IP. 18
IP. 19 150| 21.92
IP.19
IP. 20 150| 12.90
IP. 20
IP. 21 150 6.70
IP. 21
+7.19 150 7.19
o — WHIRE (BHET) OMEFBEERBCH L
+8.09
IP.22 150 3.49
IP.22
+39. 36 150| 39.36
+39. 36
+40. 40 150 1.04
+40. 40
IP.23 150 9.12
IP.23
327-1 150
Eiy Eiy Eiy Eiy Eiy
B 140. 82




BEEIET

GEEY] EELD il % T AS0yn RUY RiIunT
E A 154 % 11 E&E fEHIBE A& X 18 1B Z ] =] EBIEFICIR T+ 5 AEIBRFIZRITS
£ . 5] 28 TE i miEAER Ao - Erayn HS - ELusn
& & 7 = 3 1#kE B | @& B | @& W E
=5 = £ 4 HE |E ER (@ ER (REIER)| (B2 EE)| t (AsH S| t iCoHT| ti tiAsHT| titiCoAa|titi Bt
b, BE |# # s s s
mm m m m m m2 m m2 m2 m2 cmi m3 [cmi m3 [cmicmi m3 |cmicmi m3 |cmicmi m3
IP.17
IP. 18 150( 38.20
IP. 18
IP. 19 150 21.92
IP.19
IP. 20 150 12.90
IP. 20
IP. 21 150 6.70
IP. 21
+7.19 150 7.19
j;:ég ol 000l £ LFIEM (BHHET) OMEEAEEEH L
+8.09
IP. 22 150 3.49
IP. 22
+39. 36 150 39. 36
+39. 36
+40. 40 150 1.04
+40. 40
IP.23 150 9.12
IP.23
327-1 150
AszkEt
1 EE&E
2 HiE Cosk&t
3 1kThE
4 HE HLEt
B 5! BE




MM EER

il & * & I
& A & 1 * X ] ERELES m 2 g E X R I E E
£ A Al 3 R Z
& & & B 3 ] 124 M |EEL| =2 | I | YIR | EE | EEM | BIEHM | SIEH
= = =3 2 Ed ) ER ) xH | RS (A) (B)
L] 12
mm m m t E% m t S m t t t t

IP.17

IP. 18 150 38.20

IP. 18

IP. 19 150 21.92

IP. 19

IP. 20 150 12.90

IP. 20

IP. 21 150 6.70

IP. 21

+7.19 150 7.19

LB 50 ool P EFIERA (BEHET) OpEISEAeREH T L

+8.09

IP.22 150 3.49

IP.22

+39. 36 150 39. 36

+39. 36

+40. 40 150 1.04

+40. 40

IP. 23 150 9.12

IP. 23

327-1 150
g 140. 82




ITHEE

I # & iE
T iE g HE %iﬁﬁﬁﬁﬁL;EléiU 1HHY DIP150 %iAfS 5] DIP150 E5AM 5| DIP150 3#5Af5 5| DIP150 A H| DIP150 EAE 5 =
BIZE| AE RAAE LS 2.00m 2. 50m 3.00m 3.50m 4.00m
@® @ © O+Ox® |mIE! BH% |KIE BH |HIS! A% |KIE! B |[HBIE! BK
1. RIREZE a. BEXIREA 2. 00m 100.00] 2.30] 1.00[ 43.5m/BH TKiZBEEI P78
2. 50m 100.00] 2.60] 1.00[ 38.5m/H "
b. #IAEE S 22 (2. 00m 10.00/ 0.18] 1.00] 55.6im/H TKIBEAI P148
2. 50m 10.00/ 0.20] 1.00] 50.0im/H "
3. 00m 10.00] 0.22] 1.00] 45.5im/H "
3. 50m 10.00] 0.24] 1.00] 41.7im/RH "
2XRIFEE |a BELE 1B 100.00] 1.00] 1.00[ 100.0im/H TK#BEAEI P152
28% 100.00] 1.80] 1.00[ 55 6im/H "
b. #i 5 HEf #4 10.00[ 1.70] 1.00 5.9it/H ToKiFBRAI P156
3. {EHIT a. B BHO. 20 67.000 1.00 1.00 67.0m3/H ToKizEAAI P28
BHO. 35 99.00] 1.00 1.00[ 99.0im3/H "
b. A7# N vt 10.00] 3.90] 5.00] 12.8m3/H ToKiZEA] P28
4 R#L Ah 1.000 005 3.00] 60.0m/H
5. BT SBHEHHRT  |DIP150 10.00( 0.09] 1.00] 111.1im/RH B4 P46
AHohVEETF (48] 1,00 0.08) 1.00| 12.8:O/H [EE4 PaT
GX#F (EE) 1.00] 0.05| 1.00[ 20.0i0/H [E4£4 P51
GXHEF (BRE) 1.000 006 100 16.7:Q/H [E4£% P51
GXHEF (G-Link) 1.000 0.10[ 1.00] 10.4iQ/H8 [E4£4 P51
GX#EF (P-Link) 1.000 007 1.00] 154iQ/8 [E4£4 P51
750y MET 1.000 007 100 14.3:Q/8 B4 P49
6. BEEMT a. B -# 100.00] 2.76] 1.00[ 36.2im3/H ToKi%EAAEI P346
b. #-AH 100.00] 5.90[ 1.00[ 16.9:m3/H "
1#ERT a. AR 100.00] 26.00[ 3.00[ 11.5m3/H ToKizEAAI P36
b. # 100.00] 3.00[ 1.00[ 33.3im3/H ToKizREAE P40
8. KR E a. BE RIRER 2. 00m 100.00] 1.00] 1.00[ 100.0im/H ToKizEAAI P78
2.50m 100.00] 1.20] 1.00[ 83 3im/H "
b. EAf 5 2 |2. 00m 10.00] 0.10] 1.00| 100.0im/HA ToKi%BEAAEI P148
2.50m 10.00] 0.12] 1.00] 83.3im/RH "
3.00m 10.00) 0.13] 1.00] 76.9im/RH "
3. 50m 10.00) 0.16] 1.00] 62 5im/RH "
9. ZRIFE |a BELRE 1E% 100.00] 0.70] 1.00[ 142.9im/H ToKi%RAAI P152
2E% 100.00] 1.10] 1.00[ 90.9im/H "
b. #i 5! HEf #4 10.00) 1.00] 1.00] 10.0it/RH ToKizERAI P156
10. &t [1~9]
1. #£EA% [10] x1.5
12. k&8 # [(1~3a)/2+(Bb~7a)+(Tb~9) /2]
13 EHBEH [11]
14. SR EI [11/30m




